

Lecture 10

$$D = \{R, S\}$$

$$f(D) = \sum_{t \in R} \sum_{v \in S} g(t, v)$$

~~$\alpha$~~   
 ~~$\beta$~~

$R'$  maps  $R$

$S'$  maps  $S$  ) indep. n. w. l.

$$Z = f(D) = \alpha \beta \sum_{t \in R} \sum_{v \in S} X_t Y_v \delta(t, v)$$

$$E(Z) = f(D)$$

$$E(Z^2) = \alpha^2 \beta^2 \sum_{t \in R} \sum_{t' \in R} \sum_{v \in S} \sum_{v' \in S} E[X_t X_{t'}] \delta(t, v) \delta(t', v')$$

$$E[X_t X_{t'}] = \frac{1}{2} \left( t \cdot \frac{1}{\alpha} + \int_{t, t'} + \frac{1}{\alpha} \right)$$

$$= a_R \int_{t, t'} + b_R$$

$$E[Y_v Y_{v'}] = a_S \int_{v, v'} + b_S$$

$$E(Z^2) = \alpha^2 \beta^2 \sum_{t \in R} \sum_{t' \in R} \sum_{v \in S} \sum_{v' \in S} \left( a_R a_S \int_{t, t'} \int_{v, v'} + b_R b_S \right) \delta(t, v) \delta(t', v')$$

$$= \alpha^2 \beta^2 \left[ a_R a_S \sum_{t \in R} \sum_{v \in S} \delta(t, v)^2 + a_R b_S \sum_{t \in R} \sum_{v \in S} g(t, v) \delta(t, v) + b_R a_S \sum_{t \in R} \sum_{v \in S} \delta(t, v) \delta(t', v') \right]$$

$$b_R b_S \sum_t \sum_{t'} \sum_u \sum_{u'} \delta(t, u) \delta(t', u')$$

$\underbrace{\hspace{10em}}_{\left( \sum_t \sum_u \delta(t, u) \right)^2}$

$$\sum_{t, t'} \sum_u \sum_{u'} \delta(t, u) \delta(t', u')$$

$$\sum_t \left( \sum_u \delta(t, u) \right) \left( \sum_{u'} \delta(t', u') \right)$$

$$\sum_t \left( \sum_u \delta(t, u) \right)^2$$

$$E[z^2] = \left[ a_R a_S \sum_t \sum_u \delta(t, u)^2 + a_R b_S \sum_t \left( \sum_u \delta(t, u) \right)^2 \right. \\ \left. + b_R a_S \sum_u \left( \sum_t \delta(t, u) \right)^2 + b_R b_S \cdot \left( \sum_t \sum_u \delta(t, u) \right)^2 \right]$$

R, S, T

$$z = \sum_{t \in R} \sum_{u \in S} \sum_{w \in T} x_t y_u w \cdot \delta(t, u, w)$$

$a_R, b_R$     $a_S, b_S$     $a_T, b_T$   
 $\downarrow$     $\downarrow$     $\downarrow$   
 $x$     $y$     $w$

2



$$E(z^2) = c \left( a_R a_S a_T \cdot \sum_t \sum_u \sum_w s(t, u, w) \right)$$

$$+ b_R a_S a_T \cdot \sum_u \sum_w \left( \sum_t s(t, u, w) \right)^2$$

$$b_R b_S a_T \cdot \sum_w \left( \sum_t \sum_u s(t, u, w) \right)^2$$

$$b_R b_S b_T \left( \sum_t \sum_u \sum_w s(t, u, w) \right)^2$$

$$E(z^2) = \alpha^2 \cdot \sum_t \sum_u E(X_t X_u) \cdot S(t) S(u)$$

$$a_R S(t) + b_R$$

$$E(z^2) = \alpha^2 \left( \sum_t S(t)^2 + b_R \left( \sum_t S(t) \right)^2 \right)$$

Key Idea:

$$E_{R|S}(z^2) = E_S \left[ E_{R|S}(z^2) \right]$$

$$c = \alpha^2 \sum_t \sum_u E_S \left[ E_{R|S}(z^2) \right]$$